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EARKE | EXRERH HidFERE 1mcoF
1om 1,100 10MZBZ20mET 1204
20M##BZI0MET 1304
—f%5K 3OM#EHBZ50MET 1404
50m#%#EZ100m=ET 150/
100M%E#EZ5ED 160/
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ERKE BE R WEE thn%E
10om 1,180M 1,210M 30
20m 2,480M 2,530 50 [— iR T REE
3om 3,880 3,960M 80
40m 5,400 5,500 100M
50m 6,910 7,040M 130M
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HERE (1,100 [EAFEAE]+120M x 10m) x 1.1GEEFFEL%E10%])=2,530H
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ke | oA | wmkxe | DA | wmxe | DXH
~10m 1,210M 21m 2,670M 32m 4,260M
11m 1,340M 22m 2,810M 33m 4,420M
12m 1,470M 23m 2,950 34m 4,570M
13m 1,600 24m 3,100M 35m 4,730M
14m 1,730M 25m 3,240M 36m 4,880M
15m 1,870M 26m 3,380 37m 5,030
16m 2,000M 27m 3,530M 38m 5,190M
17m 2,130M 28m 3,670M 39m 5,340
18m 2,260M 29m 3,810M 40m 5,500
19m 2,390 30m 3,960M 50m 7,040M
20m 2,530M 31m 4,110M 60m 8,690




